
Fig S4

Dean/Jett/Fox: %G1=64.5, %S=21.7, %G2=16.7.

Vector in 0 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=41.2, %S=38.6, %G2=24.5.

G3 in 0 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=61.5, %S=16.3, %G2=24.1.

Vector in 0.5 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=49.3, %S=29.3, %G2=21.8.

G3 in 0.5 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=57.5, %S=21.7, %G2=17.8.

Vector in 2.0 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=52.3, %S=13.7, %G2=25.7.

G3 in 2.0 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=56.6, %S=23.5, %G2=15.6.

vector in 5.0 μM AG 1478

Event Count: 10000

Dean/Jett/Fox: %G1=55.7, %S=15.7, %G2=20.8.

G3 in 5.0 μM AG 1478

Event Count: 10000




